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(0. which of the following is not a part of the
Article 20 of the Constitution of India?
, (a) Prohibition Against (b) Prohibition against
" Torture Self Incrimination
(c) Ex-post Facto Law  (d) Double leopardy
Clause
( 11.
|

‘Milind Panho’ is in the form of a dialogue

between King Milind and Buddhist Saint. The
concerned saint was -

(a) Nagarjun (b) Kumaril Bhatt
(c) Nagbhatt (d) Nagasena
12. What do we call balancing the need to use
resources and also conserve them for the future?
(a) Future resources (b) Resource
conservation
(d) Sustainable
development
13. Match list-1 with list-ll and select the correct
answer using the code given below the lists —
List—1 :
. Book
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-Insha
List =i
Context
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan’s letters
(4) Victory of Gujarat
Code -
(@) A-(2), B-(4), C-(1), D~(3)
(b) A-(4), B-(2), C-(1), D-(3)
(©) A-(4), B-(2), C(3), D-(1)
(d) A-(1), B-(2), C-(4), D-(3)
14. When was the Census work done for first time in
India?
(@) In the year 1861
(¢) In the year 1871

(c) Reducing
consumption

(b) In the year 1850
(d) In the year 1881

15. Which of the following is not an economic
activity?
(a8) Transportation (b) Farming
(¢) Service (d) Voluntary Social

~ Service

10, freffag & ¥ om axdy e @
aee 20 &1 fRwar 18 87
(@)t & fase e (b) wad g favs
e 2 o P

(c) @R fafer (d) QTR &S DI ERT
1. ‘fifers oy <o Mo @on w dia g @
Heg darg W9 ¥ & | 9% Py & —
(@) ATTSf (b) HHRS g
(c) ArTHE (d) FATTHA
12, AT & STAnT qo Afae & g S wRew
) STaIET B [gfd DR B ed T TE
.14

(@Lafe & warE () | e
(c) @ua ® &N B (d) [aa 9w
13. —| B GE-Il W gRfed BIfeiY aen i
?ﬁrﬂ 2y 77T g ¥ WA SR gAY —
-
M?Egﬁ-‘qu @
(B) gRET—U—HIRR
(C) RaTa—Sa—getias
(D) Rasi—Sa—=3m
-l
fawg
(1) g7t T SfoET™
(2) EHH @ IFBASTR FT 3hET
(3) ¥E9E Al © YA BT I
(4) oI fas
ﬁr =i,

(@) A-(2), B-(4), C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3)
(©) A-(4), B-(2), C-(3), D-(1)
(d) A-(1), B-(2), C-(4), D-(3)
4. YRa A IO BT BT Gy B f T
o7

(@)= 1861 H (b) af 18504
(c) a9 18713 (d) o 18817 ?
15. PreRag § W B @ e f T E
(a) qRae (b) femerft (@)
Hal
(©) ey (g afeed T
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/ ' 16 WA R R, 2021-22% Wt 4, FrefiiRe

nt
| an Developme
! 16. Wwith reference to the Hum

Report, 2021-22, which of the following T BT wor we & /B8° |
statement stare correct? ¢ {1}1:”3'3'- ﬁm{ W ﬁ H¥d Efﬁ' ’gfu?[ 2020#
(1) India’s rank on the Human Developmen 3 ey
Index has upgraded from 130 in 2020 to 132 130 S+1q Bipv 2022 |
in 2022. ; (2) 719 e NE®RIh H ARG Bl 0T 2020 §
(2) India’s rank on the Human Develupmel.'l ot : A
Index has stipped from 130 in 2020 to 132 in 1309 20227 132 ad iz 71g &
2022. %WE@E’WWW‘@WWW
Select the correct answer using the code given "
below — : e
Code - & | |
(@) Only 1 ' (b) Both 1 and 2 (@) wger 1 (b) ST 1 7g 2 .
(©) Only 2 (d) Neither 1 nor 2 (S)-Baet 2 @5 a1 1918 2
17 Who among the following is the first women  17. AHHAT B Gorg Al wiew s 3§ 9 DT T2
?;;eaker in Lok Sabha? W gt (@) AR (b) Sfifer Ria
a) Meira Kumar Urmila Sing
¢) gferr Tifes d) AT RIS
(€) Pratibha Patil (d) Sushma Swaraj { @

18 Which of the following statements is not true  18. Wﬁ CREIR R T 9 § Pl
regarding ‘Gram Sabha'? I T8l 27 |
(@) It has the powers and functions at the village (@) 9% 1 air R T W TR Y TpR-

level, like state Legislature has at the state 8 S VST ey P I WR W 2
. level. g :
(B) Its powers are determined by the Central () s wifrgy BT Ferivoy BT PR G
Government. NI E’Ifn- %I‘ i |
© It is 3 Village Assembly consisting of g| C I8 Th IW iy Pl T B R YA P
registered voters in the area of Panchayat. &8 B wf USiiha Haerar "irforg sy =
(9) (a) and (c) both (d) (a) 217 (c) g1

19- World Social Protection Report s published by - 19 faeq s Heer Ry UBTRT &Y Tl & —

(@) World Bank (b) International Labour (@) favg ¥% gy B} SveRisf s
Organization '

() World Economics () World Health (©) faeq anfefes " gIRT (d) i%\TW}mRZ HIG+
Forum Organization SR
20- The “NISAR satelljte” Is jointly developed by 20. TR S ﬁmﬁ“‘-]ﬁqa H R e wrasy &I
which of the following organizations? YR B o B T /2
(@) ISRO.and NASA  (b) ESA and NASA (@) ST 3% =773y b) 39,9, sk w17y
() ESA and ISRO () ROSCOSMOS and © $THT. sk sy AR iy <5
CNSA . .70
21. Al elections to the Panchayats are conducteq  21. R B g1l BT e HIAT & —
by - e ' |
(8) State Election (b) State Legislature iy ST (b) Vh IR
Commission (€) IR o ﬁﬂfﬂﬁ (d) Ty RIS 317
(¢) Election Commission (d) Panchayati Raj ST
of India Commission
D-1-23] 153101 Page 4 of 32
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27,

29,

: f Loti =5
22. Example of Lotic eCosystern ol L FeTeRl &
(a) Ponds ) e 22. anfed (b) A&l @
Ri a) drefrid zdad
(c) Marshy area Al ( g (et (d)
({i] Swamps (G} ZE31S]
23. Which of the followineg gfRa) N Caslil g, foraepl
y . INg is R 3 a1 mRN o 37
against Covid-19 jnfacs: accine ysed 23 fAEfeiad
ection? e use o HeHOT @+ faos
(@) Sinovac ST DfdS-1 sl
| ) Mode R ®)
(¢) Sputnik (d fna (a) (d) =rardad
Novavay (cy ¥gefi® 3 oo
24. Which among the foll - FIAR @ fpd AP
* OWing ryjer f 24. fayefoiad A &
abolished Zaziya and ¢ OF Kashmir RFaT?
. OW Slaughter? 3R 7Y B BT WA .
(a) Zain-ul-Abidin (6) Sika J ' R (b) fg@ax e
(¢) Shamsuddin Shah (d) Ha: dar Shah (/aL (d) Bax ¥ME
Haider Shah (c) TrgEIT WTE 3
25. Which of the following Scor 25, frefefRag # 9 fP¥ e Ao @Y gAgsl
: i Pene (Class : : p
Submarines was ¢ & . _ L GREE IRIEIE
i OMmissioned into Indian Navy Sras), 2023 ¥ R ?ﬁ‘@FIT. +
(¢) INS Vagir (d) INS Vel () smggAgy. arfR - (d) RS |
26. Consider the following deserts and arrange them 26 Prefaiae Al W fa-rm' P AT S
Inincreasing order of their size (from smalfest to P AMHR B TG HH H AANRT BT (F
!argeat) o "Ef]é' qu' m ﬁﬁﬁ t_'l?ﬁ) =
(1) Greatl Sandy desert (1) e Avh TR - @::
(I1) Arabian desert (1) R Ao ~®
(I11) Sahara desert f __ﬁ@ =
(IV) Gobi desert ( )MHEI YiRd e D
Select the correct answer using the code given 2;2[ B ks ;ﬂﬁ
below - | R STR GIY —
@ 1, 1V, 11, 111 (b) 11, 1. 1. IV (@1, Iv, 11, 11l () 1, 1, 111, IV
©) 11,1, 1V, 111 (d) 1, 10, 0v, 1 © 11,1, 1V, 1l @t u, v, 1
Seaweeds are important source of - 2?' NEEIRIEICRE RS o i e | T
(a) Argon (b) lodine (@) :'m-'ﬁ b (b) ST 7
() Chiotine: (d) Bromine (©) FoIRIT & (g @ -
8. When did the Water (Prevention and Control of 28. T SED LR yguu A=) < IBIERL
Pollution) Act was enacted in which of the afafeg 3 ¥ g g g=mr T4
following year? : (@) 1974 % M?ﬁﬁ
(@) 1974 (b) 1976 A
() 1975 % (d) 19777
() 1975 - (d) 1977 71 YT
In National Parks, Genetic diversity is maintained  29. XIS S H SHrgaiiiD fafaere
by - faﬂ:ﬂ' SATAT % = : ol G
: P :on (b) Ex-situ conservation (a) s9—Bre e g (0) W“‘ﬂ? a8
(@) In-situ'conservation (b) Ex-situ (a) F97—¥Ig, &R o) e 3§ IS
(c)\Gena nool (d) None of the above (c) i sy Uol gIRT l{///mm
Page 5 of 32 mmmg]ﬂlﬂﬂﬁﬂ
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Which of the following (Scheme — Year) is not
30. I

d?
ectly matche
r:;r;ural Housing Interest Subsidy Scheme - 2017

. (b) Sansad Adarsh Gram Yojana - 2014 |
(c) Shyama Prasad Mukherji Rurban Mission -
2015
(d) Deen Dayal Upadhyay Gramin Kaushalya
Yojana - 2014
31. Among the following, which country has declared
to remove the British Monarchy from its Central
Bank Currency Notes on 2" February, 20237
(a) Nepal (b) Canada
(¢) Australia (d) Sri Lanka
32. With reference to the “EL-NINO”, which of the
following statement/s is/are correct?
(1) El — Nino involves dppearance of warm
current of the coast of Pery in eastern pacific,

(2) This warm current increase the temperature
of water on the Peruvian coast by 10°C there
by increasing the amount of Plankton in the
sea. :

Select the correct answer using the code given

below — '

Code - _
(@ Only 2 _(b) Both 1 and 2
(€) Only 1 (d) Neither 1 nor 2

33.

In 1918, the United Provinces Kisan Sabha was

formed by which of the following leaders?

(@) Pt. Jawaharlal Nehru (b) Baba Ramchandra

(©) Swami Sahjanand  (d) Indra Narayan
Saraswati Dwivedi

34. Which among the following organisations was

responsible for throwing a bomb at Viceroy Lord
Hardinge in Delhi?

(@) United Patriotic
Association
©) Yugantar

S3: Plana of which Airjin

B) All India Labour
' Association
(d) Anushilan Samiti

€ crashed in Nepal in

January, 20237
(@) et Airline

) Tara Airlin
©) Nepal Airline ( . ]

30 FEfiRed % & P e (@oEr — a9 @
gafor & 22
(H}WWWWW*ZOIT
fb}‘ﬂfwaana:afumaﬁmm~zo14
{clwwmwvﬁwﬁ:fﬁw-zms
(%WHWWWM~

2014 o

2 BRad), 2023 aﬁ,ﬁwﬁ‘fﬁgaﬁﬂﬁma*w:‘f
m%a}maﬁaﬂ%ﬁﬁ%ﬂw
Pl BN &Y Yo F?

(a) =urer (BT

(c) iR ferar (d) sfreier

SR & e § Prefates w9

BN W/ G R

(1) i1 % it gonia &5 F 9% 3 qe w
TH IR BT yebe B e 2

(2) I8 T 9RT 9% B T W g B qgEe @)
10°C 9% o1 <ol @, o Wz o wipes
DI AT g8 Tt B

T 3T I e @ Wl s g

e —

(@) dHaer 2

31.

32.

B = 1 v 2
33,
(@) ¥ TR e e (b) qT9T IPTERE
o
(©) X Teu
BRSE RIS
_ﬁwﬁ‘ﬂﬁaﬁﬁﬁaﬁwmﬁsﬂﬁc—vﬁﬁmﬁa
drS BT W 99 By & v SeRerd o
(a) gaTEcs ufedife® (b) Rt HRAT FoTgR
(S) TR (d) ergefier afafey
35 ST, 2023 % fbw vaResA @ REE Yure

GEHCTARING garT? :
(a) IRY TevemE (OXEIRT TEReTE

34,

| 9 Buddha Ajrline yﬁmﬁ TIReET . (AR TRensa
M

¢

(1T e e



w%wwraﬁw 2022 9T BT 91y

36. Who is the Author of the famous Novel “All the 36. 3 . xR
Lives We Never Lived”, which received the G AR i s 3
Sahitya Akademi Award, 20227 gD DI 8P ! S
(@) Shobha De (B) Anuradha Roy (a) TP S = i
(¢) Anita Desai (@) Sudha Murthy ) ofrer <wre - @ ﬁaaﬁsrl i
37. Which statement is true for Finance Sector (Fiscal 37. @it AMC-2023 TR A 27
Management) in the Union Budget-20237 sawr) @ ferg @i WW N W'm 55
(a) Budget ' estimates 2023-24 for total (a) 2023..2:_q§§ﬁ€ ¥ R
expenditure is I 55 lakh Cr. IS I
(b) Fiscal Deficit 2025-26, the target is to be (5)-2025-26 P forg T T DT 5.5% F
below 5.5%. ‘ G BT e | o |
(¢) Fiscal Deficit of 3.5% of GSDP allowed for (©) SLTHSLUL PT 3.5% gl
states. I STAM |
(d) Twenty years interest free loans to states. (d) 7oAt @1 99 99 @ Y TS Jad 7|
3. Which of the following (Union Budget 38 famfafad # ¥ P TP (P %‘Gia femT
Departments 2023-24 - Allocation amount 2023-24 — Gﬁmﬁﬁ Srrafed iR X) T
approx. <) is correctly matched? 870
(3) Dept. of Health Research—% 9,155 Crore (a) waTez ¥ fAMTT — 9,155 FRIS X
(b) Ministry of Health =% 89,155 Crore (b) Tg™eT HATHT — 89,155 BRl$ I
(c) cDept. of Health and Family Welfare — % 80,000 (O wReT T gRaR HeIoT HATAI — 80,000
rore : f
(d) Pradhan Mantri Jan Arogya Yojana — Z 5,000 ; _%
Crofe (d) g S TR AT — 5,000 RIS 2
39. With reference of the election of the Vice - 39 yRg & SRl BT Mam, R ga==
Eresident (?f rndia; ':uzich ishQE;Ia;efhuu;d"by 'fhe R §RT I NG fbar 1 2 & we ¥
; ollo : :
upreme m..!rtu ndia, which of the wing ﬁﬁﬁﬁﬁﬂﬁ/ﬁmﬂﬁ%‘/é‘?
statement/s is/are correct? : & 4
(1) The acts done by him as Vice — President (1) SRIEUIT & $9 59 ysR ¥ diwon § ud
before such declaration are considered valid. S &N foby T BRI a7y B B |
(2) The acts done by him as Vice — President on (2) SUTTUfT & Wy H S BN B M
EI;E :ayof such declaration are not considered :;ﬁ ﬁ; P R fopw T SR -
' G : s | T
Select the correct answer from the code given 1 R
below - WE@%%G?‘QWWWH
Code - & —
(@) Neither inor2 () Only 1 @Far 191 & 2 (b) Haet 1
(¢) Only 2 (d) Both 1 and 2 (©) Baa 2 (@) =1 1 e o
%. Which one of the followin | 40 -
g (Place of therevoltof  40. R o i -
1857 — Start of rebellion) is not correctly (I (1857 % famie @7 ver
matched? | ~ 158 1 o) ey AT =1t 27
(a) Lucknow — 4 June, (b) Barrack — 29 March %
’ . ' —d : b
1857 1857 R %ﬂ'\' ek
© Jhansi-11 May,  (d) Meerut— 10 May, 1557 1857 '
1857 = O = 1097, 1857(d) 3y 107
(D-1-23] 153101 Page 7 of 32
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41 with reference to the Pope Benedict XVI, who

died recently, which of the following statement/s

is/are correct?
1. He was a native of Germany.
2. He was the first Pope to resign in 600 years.

Select the correct answer using the code given

below —
Code -

(@) Only 2 (b) Neither 1 nor 2

(¢) Only 1 (d) Both 1 and 2 &

N
2. Tappa style of music was refined and developed;

in which of the following Mughal Emperor’@
Court? :

(b) Akbar

(4) Muhammad Shah

(@) Jahangir
(¢) Shahjahan

00
L 9 The Xylem in  plants is  responsible fﬂE}l
transporting - iz
4 y o
(@) Oxygen (b) Amino Acid | -
(¢) Water (d) Food

4. Which of the following statement is trye?
(@) Tide comes on the earth every day aﬁ:eg
€xactly 12 hours 30 Minutes.

() Benguela current is a cold cyrrent of thev
Pacific Ocean,

(c)

“ancer ang Capricorn.

th _

If
Straight line —
then this Situati i

ation is the Situatio
s Fsmay tide, ‘E

hat Wasg I'nd'la

(d)

:5 raﬂk in th
N 20275

Bag -

(a) 10t
) 11t

€ Worlg Breenhouyse

4. 919 Ffede Hered. R g & F P
T Gf F Rrfaeg sot & @ B9 W
WEl 7 /82
198 et & w7 Framedt o
2- 98600 997 # g¥elivT 2 arer gEer WY o
%%ﬁwﬁrf@ﬁwﬁwgﬁﬁ—
7T —

(@) Paer 2 (b) 57 ar 147 & 2
(©) Baer 1

42,

43.

(d) e

ﬁﬁf#@aﬁﬁaﬁqmmm%‘? |
(a) qeﬁwr{ﬁ‘rﬁqa%nﬁéaoﬁﬁewm

(d) ﬁ'w,Mwmwm#s‘fa’rua
ﬁw%agwaﬁﬁer%%f
45. 2022#ﬁwﬁsﬁj_amﬁ§_‘fa%
531 Yerrt gv egr?
(81047
(€) 114}

ST F HRg

(b) o7t
(d) 12597

N T T T



46. Match list-| with list-1l and select the correct

answer using code given below —
List - |
(Diseases)

List - 11

(Factors)
(A) Peptic ulcers (1) Virus

(B) Dengue -~ (2) Protozoa
(C) Elephant FGENE) Worm
(D) Malaria . 4) Bacteria
Code -

(@) A-(2), B-(3), C-(4), D-(1)

(b) A-(4), B-(1), C-(3), D-(2)

[C) A-{4L B_'{Z}J' C'(S], D'(l]
(d) A-(3), B-(4), C-(2), D-(1)

11208

A ¢
i

1208

47.

Vedic administration?

46. - B G-I | ghfr AR e R Ry
T G P OYENT RS WA ST B T
PTG —

Il -1 T - 1
(cf®) (=)
(A) ufteds gor (1) famroy
(B) S PIRIEEIC)
(C) WYer dfq (3) pfA
(D) HeiRRar CORERIL
i |

(a) A-(2), B-(3), C-(4), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)
(c) A-(4), B-(2), C-(3), D-(1)
(L A-(3), B-(4), C-(2), D-(1)

Which officer was known as ‘Bhagadugha’ during 4T AR P I A qATgE DI ATBRY o1

(a) RISTT B OTHT DR (b) AR Uga™ arall
(@) Revenue Collector (b) Messenger e B '
(¢) Chief Offi d) Chi i P
(F::zf? icer of (d) ;hlelffﬁcer of the © o (d) o T T S
sts ambling | | .
Department B8 SHfEHR] ST
#8. Which among the following is a constituent of \148. fA=fiRae # ¥ WiHhis TH F7 & T
natural silk? & e :
(@) Phosphorus (b) Nitrogen o (@) HIHRE D SrEeeT
(¢) Magnesium (d) Potassium (€) A+=NfRraw (d) grferas
49. Which of the following events was the last in 49 Fawd & e ¥ A=fRe Teael & @
chronological order? 2 BT difem ofi? A
- : f o : 1%
_ (a) Jallianwala Bagh (b)) Moplah Revolt N (@) sIforiaren gt (b) Arger fage — \ o
2 Massacre v AR '
\&}, ~ (©) Khilafat Movement (d) Home Rule - : : ALl
Movement Sy e ar,lallﬁx'"‘lﬂ‘; (d) 8/ w1 arieier —
0. With reference to mineral resources, which of 0. Wf¥w wwET & Teef Y, fr=feRed west §
the following statement/s is/are correct? P W1/ T s /%
1. L.ithium"s i.nfe_rred resources have I:).een found | 1. BTN B Ay & =
in Reasi district of Jammu & Kashrhir. : IRaTl | SRR
2. India is import dependent for many minerals STIATNT HIGT HUSR - ey gl
like Lithium, Nickel and Cobalt. 2HART 3 W qeor oifrm, Rmer qen
Select the correct answer using the code given DS D fore e ue iR g |
1 below — :ﬁﬁﬁﬁﬂﬁﬁgﬁﬁﬂﬁwgﬁq—
Code - He —
’ (@) Only 2 (b) Only 1 &
a)gaeT
(¢) Both 1 and 2 (d) Neither 1 nor 2 ( - () Baer 1

[D-1-23] 153101
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N | resources should be L:'SEd by .the present
gy n in such away that if there is minimum
genrzf:::an of natural resources, then what kind
:fejevelopment would it be called?
(@) Organic () Sustainable
Development Development
(¢) Social Development (d) Economic
Development
92. The resignation letter by a Judge of Supreme
Court is addressed to - :
(@) The Chief Justice of (b) The President
India
(¢) The senior most
Judge of Supreme
Court

93. Which of the following is not correctly matched?
(@) Gulbadan Begum - Daughter of Babur
(®) ltutmish — Father of Razia
(¢) Hamida Bany Begum — Wife of Allaudin Khilji
(d) Shah Turkan — Wife of Iltutmish
94. Which of the following Provision is a part of both
Directive Principles of State Policy and
Fundamental Dutjes? |
(@) Participation of workers in management of
Industries
() Protection of environment
(©) Guardians to provide opportunity for

D1

(d) The Prime Minister

education to children
(d) Uniform Civil Code

92.

93.

54,

D R (o) ety e

VA RIRrTery o VD SN &1 gy

SR gy & _

(@) TR B ey (YUl
AT

@) 919 FRE wfear

HHI 97C 2023-24 3 Iﬁmﬁ% SEEHT? CIEICE]
$mﬁﬁ,ﬁmwﬁﬁﬁﬁﬁm/ﬁw
W & /8 | 5
(1) fiea af @ qemr ¥ FRT &g e A
At g ekt aof a) w2
Waﬁﬁgwfﬁmdﬁﬁaﬁmg@
o ¥ded ¥ waifte i gfy oot @ T
g |
M R T g w1 w v @ s @

AT BT —




56. Match list-l with list-1l and select the correct

_ 56. Al B A gafera HfIT SR A fen
ansE:tr ulﬁmg code given below the lists — T He HT HAT BRI §Y Fel S gAY —
(Theories of Population) @'ﬁéﬂ & Rugid)
(A) Optimum Population Theory (A) SUgF S Rigrd
(B) Social Mal-adjustment Theory (B) AT roaHTANST Er=
(C) Demographic Transition Theory (C) ST ¥HshavT RigTa
(D) Population-Food Supply Relationship Theory (D) SEET—Erer Jgfd g
List - II g -l
(Propounders of Theories) (Rigieii & wfcraTe)
(1) Thompson [1] o TRy
(2) Malthus. (2) HTeRrd
(3) Edwin Kennan (3) vefas BT
(4) Henry George (4) & T
Code - e —
(a) A-(1), B-(2), C-(3), D-(4) @) A-(1), B-(2), C-(3), D-(4)
(b) A-(3), B-(4), C-(1), D-(2) (b) A-(3), B-(4), C-(1), D-(2)
©) A-(2), B-(3), C-(8), D-(1) (©) A-(2), B-(3), C-(4), D-(1)
(d) A-(4), B-(3), C-(1), D-(2) (d) A-(4), B-(3), C-(1), D-(2)

57. Which one of the following (Tributary — River) is ~ 57- fAmfeiiad N F B G (FEE® T — 7<) el
not correctly matched? et el 87 F
(@) Manjra —Godavari (P) Hemavathi — Kaveri (a) HoRT — TMETad (b) 2HTEAT — BT
(¢) Pranhita— (d) Malaprabha— (o — HEFR) AT —

Mahanadi Krishna 4 i

58. Consider the following statements with 58. weR Yol @ e W reread woFi WX faER
reference to Uttar Pradesh — BT —

(1) Forests constitute about 12.8% of the total (1) oI & &l Amifers &7 H1 T 12.8%
geographical area of the state. T B |

(2) The districts of Jaunpur, Ghazipur and Ballia (2) SR, T sy aferm Rt § 3
‘have no forest land. o =@ %T =

Select the correct answer from the code given ) frw T G W WA SR AT —

below — FE — g

Code - 5

() Neitherinor2 (b) Bothland2 @rdamE2 (O 12

(¢) Only 2 (d) Only 1 (¢) ®dal 2 (d) Paa 1

59. Which of the following statements is correct 59. freifeifad doFi ¥ | oexee B & v A
about laterite soil? . BI W P Wl &7
(1) This soil is developed in areas with high (‘.’FL_‘L?T*E-’ Yy Sea IO Td AR 98T arel &l |

temperature and heavy rainfall. farfRrd Bl € |
(2) It is poor in iron oxide and aluminium. (2rzu fig 3 o oifewrgs Ud qepifa o
Select the correct answer using the code given C ol gRl ol 2 )
below — #r Ry 0 ae A W& SR I -
Code - G
(a) Only 2 (b) Neither 1 nor 2 (a) act 2 (b) 5 &Y 197 &1 2
(c) Both 1 and 2 * (d) Only 1 (c) QY 1 TR 2 (d) shaet 1
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60. Charak Sambhita is divided into how many 60. zxy; R frasy ST} ait v . 8
chapters and sections?
- () 80 chapters and (b) 60 chapters and (@) gp ST o 7 e (b) 60 R 8 we
/ sections 8 sections .
(¢) 120 chapters and  (d) 100 chapters and (c) 1203217y 5ify 8 W(d) 10 R 5 e
8 sections ' 5 sections
61

* According to Economic Survey 2023 about 61

services, which statement among the following js
not correct?

S—BraY IR & gy ferars
| ©-Commerce market by 2030, R % sy YIS Y | i
®) 75 digital banking ynits anhounced for (b) 75 [Sfresr dfs SPIAT o) 3 1 iRy
transforming financial seryices. A B oy P forg o g g
(©) Credit growth to S€rvices is above 169 since ©) Se77E 2027 9 Bfee A5 160
July, 2022. N ey 16% 3 Tz
@ pP.m.1 Services witnessed strongest expansion (d) tﬁQqe.ng‘ AT A
315 2022 g ¥ gy qoTgq
since July, 2022. FIRIY ey 7 |
2. Given below are two statements, one is labelled 62 T &) o g R & VB BT rfiyepers (A)
as Assertion (A) and other as Reason (R) - _ _
Assertion (A) - Population control is necessaryto St W i (R) Ber 2 S
: maintain the environment of the aﬁm (A)- 331 & ERICR I ¥y @
country, f%m : ﬁw ' 3
ST SUCEE G
Reason (R) - Due to the rapid increase in

Population, the €nvironmenta| PR (B) *m q g Eﬁ? & DPRYT GfgRoy

balance js maintained,

_ Select the correct answer using the code given W ey Ty BE A WE 9w gAY —
below — | i

Code -

. he ~
-(@) Both (A) and (R) are true but (R) is not correct @/ﬂﬂf IR (R) 2
€xplanation of (A) |

N & g (R), (A) B} %y

AR & vy
©) (A) is false pyt (R) is true (b). (A) Tremey & f=g (R) &g 2
©) Both (A) and (R) are true and (R) is correct ©) (A) 3tz (R) 9 w7 & ik (R), (A) & ¥
G €xplanation of (A) _ R Py @
6\ IS trUe but (R is fajce (D (A) W1 & g (R) ey 2
e om0 Deokin Uy Hhichot 8. St Rvafiers » w4 Ao s
L will.beilia:ii:?:::- 'S/aJe correct? 79BN @ 8 /87
‘ : I8N Unij ; :
5 l;"}g*;ﬂ?s an "Ndepengant carnr.::;r T Ent?r - T8 U9 W IRy o _W ¥ R
-S:'-'let;t th: i:f: Uniin Maharaghtr., PR AT Ygerr el faeafemery &
ect 2 ' &g
cf.ldt’:”j‘ | NSWEr Using the code given 2. ¥ FERIS & woifier sy o VT 2|
© Ony I

(b) Paer 2
@ 7 & 157 & 5

U R e i




64. Which one of the following pairs (Schedule -
Subjects) is not correctly matched?

(@) Third Schedule - of Oaths
Affirmations

(b) Ninth Schedule —
Council of States

Forms or
Allocation of seats in the

(¢) Eight Schedule ~ Languages

64. ﬁqwﬁﬁﬁwg‘”(ﬁmﬁ

— f) e gafer el €7
{aim'w—mﬂmwiﬁm
yﬁa@ﬁ—wnﬁiwﬁw
(c) Jrredl T/ — MY

(d) el 3G — & GRady & SR W

(@) Tenth Schedule — Provisions as to ez
disqualification on ground of defection
65. In which year, “Mid-day Meal Scheme” was 65 'HedT® HIGa Jraiar” @l “GLUH. GINoT AT H
renamed as “P.M. Poshan Scheme”? fhe a9 g-‘-F-IIrf'?"I?T fasar aa1?
(a) 2019 (b) 2020 (a) 2019 # (02020 #
(c) 2018 (d) 2021 (c) 2018 # (d) 2021 5
66. Which of the following is not a biodegradable  ©: Wﬁﬁﬂ BIT I E-i:——mm LRSI
polluter? 2°
(a) Faecal matter (b) Urine (a) 71 g (b) 73 @
(€) Domestic waste (d) pPesticide (¢) ERey 3rafire (g PreTrRID
67. By which of the following Acts, the system of 67 i # & fbw aRf T &R, 1205
‘Chamber of Princes’ with 120 members was el AR 3 0S92y 9 T A
cpeateds ) 1919 &1 SRFEH  (b) 1853 FT AR TaE
(@) Act of 1919 (b) Charter Act of 1853
(¢) Act of 1909 (d) Act of 1793 (©) 1909 %1 i (d) 1793 1 rRFEH
68. To whom does the credit goes for the 68. Heilare=1 # AR Td =1 @ B A &
development of coconut and sugarcane S fhaeY ST 27
agriculture in Philippines? : % ;
{EEJ Spanish and i (b) Hollanders B . () BictosamRrat 1
Americans | SRR Y
(c) Britishers (d) French (9} feTaniit o (d) TBTgaI; B
69. Who among the following women freedom 69. Fefefad & @ o1 qfan IAAAT WA TR
fighter was not associated with ‘Quit India AiETer" .
Movement'? g : ST el &7
(8) Matangini Hazra ~ (b) Kanak Lata Barua %mﬁ:ﬁ ETORT (b) ®H orar SRH3MT
(¢) Shanti Ghosh (d) Aruna Asaf Ali (¢) @rifer €y (d) TS 3THF 3Tl
0. Which of the following (Port-Country) is not 70. ﬁ‘ﬂfﬁf@ﬁﬁﬁﬂ'ﬁw (Wﬁﬁﬂ) Hﬁﬁ'ﬁﬁﬁ
correctly matched? T 2
(8) Montevideo — (b) Rotterdam - |
Uruguay Netherland Wﬁm — S99 (b) Jfevey — RIESGLS
_{E} lgarka - China (d) Jakarta - Indonesia (©) SMehT — i (d) STt — SEMRmT
-1-23] 153101 Page 13 of 32
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71. With reference to the SCO Film Festival-2023,

which of the following statement/s is/are

M- vHEe fhed welwa—2023 @ W= o
- FreEfeiae wermt 3 & B W/ w2

correct? 1. 9TET WEART ST @) WRT F) engeEr o
1. The SCO Film Festival is being held during SR THHLS. oo werera e R
India’s Presidency of the Shanghai ST V8T & | ~ <N
Cooperation Organisation. },,qqq;cﬁgq‘r e wercaa o UH. L3 2o &)
2. SCO Film Festival will showcase the films from et faars it
the SCO countries. | = oy BT BT GART o T TR Gl
Select the correct answer using the code given T BT — o
below — T
Code - i
@) Neither 1nor2  (b) oniy 1 (@) 9 a1 1777 & 2 b) Bae 1
(€) Both 1 and 2 (d) Only 2 (ST 1 W 2 (@) Faer 2
* Which one of the fullﬂwing(Lake-{ountrv} isnot /2 ﬁ":ff%ff@ﬁ q 3 B EIE ‘éﬂ) el -‘ﬂfrﬁ;ﬂ
. correctly matched? el &7
(@) Onega - Canada (b) Baikal - Russia (@) T — P ( — &Y
(©) Maracaibo— (9) Michigan — United (O RIS — (d) A — YT
Venezuela State of America aﬁq@n Iy IMRFT
78. Who has written the book “From Dependenceto 73 “wpfy feisy = dew Remag” JKIH P oiddh
Self Reliance”? g —
(@ y. Venugopal Reddy (b) Raghuram Rajan (@) 978, ﬁTr‘rqm L] M?g?m S|
(¢) Bimal Jalan (d) €. Rangrajan (©) o7t Sfrem (d) 4. IR
74. Consider the following “statements concerning /4 SR SeErm =raTery Bl Hiferd fHR 3 B
the powers of the Supreme Court to issue certain P B U Re o) B D AR B Hgy Y
Writs to stop violation of Fundamental Rights — &1 B feg Tq 8? ,
(1) The Supreme Court has power to issue writs (1) S=aaq =arTery B I SiferT Uex = fb dg8
like Habeas Corpus, -Mandamus, Prohibition, 951 Jogefiawo, UYHTRY], . APR —
Quo Warranto and Certiorari which i T20T 3R I Re, o) URECIBE iy
appropriate  for the enforcement of T T S T w9 @), 99 Re 3 TN
Fundamental Rights, B HDHell 8 |
(2) Parliament may by law empower any other (W Bl IARPR & 5 9& DI 997 B fdedl
court to exercise within its jurisdiction the S ST Bl ) iR wmriy
Powers given to Supreme Court. MR & HIoR: Szaam =mrerg 4 & TS &9
Whieh'_ ¢ (ofi=  the above.  mentioned AfRTAT BT WRINT BN Heper 2|
statement/statements is/are correct? SURIRT HT @ E"»’T"'I'\EIT/ ¥ SR Rl 8/87
Select the correct answer from the code given Ha fog MY &e 7 a8 S AR
below — PISTT —
Code - T —
o e (5) Only 1 (@) et 2 b 71
5_ e erlnor2 (d) Both 1 andlz (94[ ar 17 2 2 (d) 1 Gﬁ'\’ Zafl?ﬁ
tota| “li?:v{:rf'-ttie fS"Pwing 'S not true about the  75. B IO 2023-24 3 B uRemy H fyiferiRe
(a) Interest pavl': e EUdget =02 ¥ ¥ P W Do Wl e Ag?. . e
(20% ent  (b) State share of taxes (@) =TS A (20%)  (b) @Ry U9 Yehi H oY
©) Defence (8%) (@) and dutjes (18%) CAR IR (18%)
w © v =rr 8%) (g (9%)
| 1 e




e il

76. Who among the following has been named as the 76 freifeiaa & @1 frd STeTa], 2023 3 Yullcivs &
Prime Minister of New Zealand in January, 20237 QU & Y H AT 7T %?
(a) Jacinda Ardern (b) Cindy Kiro (a) SifisT are+ RiST fr _
(¢) Carmel Sepuloni (d) Chris Hipkins (c) TTiel HYAT (d) fora fRufes :
77. The aquatic plant commonly used as bio fertilizer 77- Worg grEm o AT e "‘E;Tﬁﬁ g P ;‘?ﬁ?ﬁ:
in the water-logged rice field is - ?T"—Béwi Ca e B 1) 2 S 1
{a} Wolfia {b} Trapa (a} aﬁ.f%mm (b] ﬂTqT
() Azolla (d) Lemna (SY TS (d) o1
78 Which of the following is/are the type/s of 78 fA=feiRad # A S /& Frefaar &1/® TdR
poverty? B g
(1) Absolute poverty (1) 1{0’} (qz9) fAesar—
(2) Relative poverty (2) amer fefaar —
(3) Subjective poverty (3) Ao et S
(4) Functional poverty (4) Tt R
Choose the correct answer using the code given B g —
below — %mwaﬁ%ﬂﬁﬁ?ﬁ _
(3) Only 3 and 4 (b) Only 1, 2 and 3 (a) aer 3 U9 4 Pread 1,2 T 3
(¢) Only 1 and 2 (d) Only 1 and 4 (©) Baet 1 3R 2 () Haer 1 74 4 e
7S- Which of the following elements is not a Noble 79 fr=ifiRaa & ¥ ®I= T dcd Algel I T8 %
gas? (a) IIEH b frea -
(@) Radon (b) Krypton i oy wtretr
(¢) Argon (d) Actinium ' _
80. Which of the following hormones is secreted by . 80. Fr=ifiRaa ¥ ¥ BFET SME ST & ShREY
the Beta cell of Islet of Langerhans of Pancreas? gﬁ?g‘?? @I dieT Ael (BBl gRT ENfad
(a) Aldosterone (b) Adrenalin (@) .? o BT TSR
(©) Insulin (d) Glucagan {é) <fr  (d) TepTIT
81. Which Indian origin businessman has been 81. ¥R 1ol - f5q el &) asuas $ o=
elected as Mayor of London Borough of aﬁ BT R
CILE ?
Southwark for the second time? . S LRI
(@) Gautam Adani (b) Sam Dalton (@) Maw e (b) A9 TreeT
(¢) Sunil Chopra (d) Neeraj Patil () el =St (ARG ufes
82. Consider the reign of following Peshwas and 82. fy=iforRag UL B I BT W) R DIfoTT
arrange them in chronological order — TqAUT I DPIREPATTAR gRRIT PIVTT —
(I) Balaji Viswanath (1) STTSTY fva=mer / ‘
(I1) Bajirao | e
l
(Il) Narayan Rao () SrSfierer |
(IV) Madhav Rao | (1) TRTFeT ’19 .
Select the correct answer using the code given (IV) #iEe X719 | |
below — ' T 2T 7Y e 3§ W SR g —
Code - He — '
@1, 1,1v, ni () 1, 11, 1v, 1nI @ 11,1, 1v, i ®) 1, 11, v, i
@ 1,0, v (@)1, 11, 11, 1v (©) 1, 1, 1, v (i iy

U



3. Which of the following (Poetess — Compositions)
83. Whi
is not cerrectly matched?

(a) Sahajobai—Sahaj (D) Son Kumari — Poem

prakash of Swarn Beli
(c) Dayz Bai —Vinay  (d) Gangabai— Ganesh
Dev Leela
o

84. conside the following statements about

sustainable development —
(1) Base<l on the global indicator framework and

data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary
Gerieral presents an Annual Sustainable
X Dewelopment Goal Report,
| (2) Glgal Sustainable Development Report is
produced to inform the quadrennial
sustdinable  development goal review
deliberations at the U.N. General Assembly
once 2very quarter,
Select the correct answer using the code given
below —
Code -

(a) Dn%?z * (b) Neither 1 nor 2
(©) Bothi1 and 2 (@) only 1

85. With rﬁ}zrence to the invaders in ancient Ihdia,

which sone of the following is the correct
chronological order?

(@) Sakas — Greeks — Kushans
(b) Greeks — Sakas — Kushans .
. (©) Sakas — Kushans — Greeks

(d) Gr%:s — Kushans — Sakas

86. I T
O Matchilst.| with list-Il and choose the correct

answepysing the code given below the Jists —
List=

List -1
thg‘u;:“hi'“'ﬂgical site)  (Present location)
(&) is:::zr (1) Rajasthan
()b (2) Tamil Nady
0) Gudiyan, oo (3) Maharashtra

Code - (4) Karnataka

83. FHfoiRaa & § i
GHfera =8} 27
(@) \EOeTE — Haoy
UehTIT

(©) TaETE — fy (d) TrraTg — oYYy 2
qicTeT i
ﬁwﬁﬁm%@ﬁﬁwﬁ%ﬁmw
AR Fifdry —
(llmwmﬁmmﬁﬁﬂm
IR ERT
e fora

(@R — gwIP) uh

(b) I HANT — ot
Sl DI BT

84.

@ Far19r &>
(d) ®ger 1

UHH HTd & YRg e STEHAVIT & Heer o
ﬁﬁrﬁm%qaﬁﬁa%}:rmwwwmaw%?

@) A5 — FT — oy
(b) AR — w1 — oy
(©) A5 — BHEOT — TR

85.

86.

©) A-(3), B-(4), c-(1), D-(2)
ﬂ}'} A-(3), B-(4), C-(2), D-(2)

IHIllﬂmllHJlm'mu'nmmmmlm




o

L ———

87. Which of the following is known .as “World
Wetlands Day”?
(@) 1 February
(¢) 10 January (d) 15 January o0
88. Which of the following Scheme/Programme is E’.Ea-
not the Central Government Programme and it is «—

(b) 2 February

Uttar Pradesh Government’s Programme? f_\f
(a) Ganga Expressway (b) MGNREGA
(¢) Pt. Nehru Utkarsh  (d) Gramin Swasthya
Mission . Mission
89. Human heart is made up of how many chambers? 89
(a) Only three (b) Only two
(c) Only one (d) Only four )
90. Which one of the following (Passes - States/U.T.) ggn-
is correctly matched? -
(a) Mana — Himachal  (b) Aghil — Arunachal E

Pradesh Pradesh
(c) Niti — Uttarakhand (d) Diphu — Ladakh
91. The Indian Biological Data Centre is being set up 91
in which state?
(@) Punjab (b) Haryana
Q0
(¢) Gujarat (d) Uttar Pradesh g
92. Match list-1 with list-ll and select the correct :_‘_‘92-
answer using the code given below the lists - C;J
List - |
(Sustainable Development Gual]
(A) SDG - 10
(B) SDG - 13
Lo
(C) SDG - 14 -
(D) SDG - 15 LN
i .
List - 1l N
(Related With) N
(1) Climate Action
(2) Life on Land

(3) Reduced inequalities
(4) Life below water
Code -

(a) A-(2), B-(3), C~(1), D-(4)
(b) A-(3), B-(1), C-(4), D-(2)
(¢) A-(3), B-(2), C-(4), D-(1)
(d) A-(1), B-(2), C-(3), D-(4)

/[ (C) THSISl. - 14

87. fmr 3 @ P w1 “fagd TN K" &

§ ST ST 87
() 1 HRas) (b) 2P
(¢) 10 SITaR) (d) 15 ST

PrefifRad Q@ B |1 HREHH DRI THR

1 HHEE 8 2 3R Yg TN UL EPR D)
ST 87
}}tﬁﬂwﬂﬂi‘l (b) AT
) e e Sepd  (d) mor waRe AR
LN R
a1 ged R A (e P 9 8 87
(@) Baa i (b)waet I
(c) Tael TP (d) Bt TR

Frefafad § & B 91 0P (@ — I/ DR

s y3er) 9@ gAferd 87
(a) 7T — fRATEe uewm (b) Sffered — U

ey
(c) fifer — SRS (2 Y — gard
ﬁmmﬁw
Gﬁ?ﬂ%”?
(a) ToITE (b) =Rarom
(©) oI () TR T

G-l B Gl § AT PIAT T Gt &
A7 A T e W HEl SR HT AIT BT —
-l
(Faa faera <ied)
ﬁm g8l - 10

B) U¥ SLGil. - 13

(D) TH.SISIL. -

{a) A-(2), B-(3), C-(1), D-(4)

(BLA(3), B-(1), C-(4), D-(2)

(c) A-(3), B-(2), C-(4), D-(1)
(d) A-(1), B-(2), C-(3), D-(4)
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f wing cities of Uttar Pradesh is
i f the following cl
| 93. wWhich of t

I|I I

il

96.

juded as the venue for 11 meetings of 200
o ":;5 of G-20 during India’s Presidency of the
sessi

o
grouping:
(a) Varanasi (b) Agra
(c) Kanpur (d) Greater Noida

94. which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi?

(a) Dev Prayag
(¢) Rudra Prayag

(b) Karn Prayag
(d) Vishnu Prayag
95. Match list-l with list-I| and select the correct
answer using the code given below the lists :
List - |
(A) Article — 324
(B) Article — 315
(C) Article — 280
(D) Article — 338
List - 1l
(1) National Commission for Schedule Castes
(2) Finance Commission
(3) Public Service Commission
(4) Election Commiission
Code -

(@) A-(1), B~(3), C-(4), D-(2)
(b) A~(3), B-(2), C-(4), D-(2)
() A-(3), B(2), C-(1), D-(4)
(@) A-(4), B-(3), C-(2), D-(1)

Make the pairs of chief rivers of their place of

origin —
Rivers Place of origin
(A) Yamuna (1) Sihawa
(B) Krishna (2) Nasik
(C) Godavari (3) Mahabaleshwar

(D) Mahanadi (4)-Yamunotri
(3) A-(4), B-(2), C-(3), D-(1)
(®) A-(a), B-(2), (1), D-(3)

ed alur!g the border between the
of America and Mexico IS -
(b)

93. SeR ww @ FEfead wEel ¥ | B T TR,

94.

95.

96.

97,

NG @1 Jeerdl @ SR G-20 & zun@ﬁ@r
119351 & fory e @ w9 A wnfaer &l 87

S (b) ST
(¢) FHrgR (d) Fex g

THfRaT % ¥ fhw e UR Rl U@
AR ) ferdy 22

(8) 27 (b) &of gaTT

() ©g wamr () fawy g=mT

R &Y ¥ gl e o iRt @

e 2 10 e § Wl 3o @y gt —
= |

(@) A-(1), B-(3), C-(4), D-(2)
(b) A-(3), B-(2), C-(4), D-(2)
(©) A-(3), B-(2), ¢-(1), D-(4)
@ A-(4), BA3), ¢-(2), DA1)
RGP 798 AR 7 398 S et o SIS

i ST W
(A) Tt ) Rygrar
(B) DT N\ ) R
C) My ) HETFeleaR
(D) ey (4) T

(@) A-(4), B-(2), C-(3), D-(1) -
(b) A-(4), B~(2), G{1), D-(3)
() A-(1), B-(2), C-(3), D-(4)
(9)A-(4), B-(3), C#2), D:(1)
U X159 R 7o AfRr) & S A

& re s

(TR



98. Shivanasamudra and Kalpakkam ar
important for -

(@) Thermal Power and (b) Hydel Power and
Nuclear Energy

e respectively

Nuclear Energy

(¢) Nuclear Energy and (d) Solar Power and
Hydel Power Nuclear Energy

2023 India’s biggest helicopter

manufacturing plant was inaugurated in which

one of the following places?

(8) Tumkuru, Karnataka (b) Chakeri, Uttar
Pradesh

(d) Nasik, Maharashtra

9. In February,

() Coimbatore, Tamil
Nadu

7 100. Which of the following is known as laughing gas?
(a) Chlorofluro Carbon (b) Ammonia

(€) Nitrous Oxide (d) Carbon Monoxide

101. With reference to the representation of Uttar
Pradesh in Parliament, which of the following
statement/s is/are correct?

(1) Uttar Pradesh has 31 seats allotted for Rajya

Sabha,
(2) 80 members of Lok Sabha are elected from
Uttar Pradesh.

Select the correct answér using the code given
below —

Code -

(@) Both 1 and 2 (b) Only 1

(c) Only 2 (d) Neither 1 nor 2

102. Role of Human Resources in Economic

development, which of the following

statement/s is/are correct?
1. Effects of economic development on

population growth.
2. Effects of population growth in economic

development.
Select the correct answer using the code given

below -

Code -

(@) Only 1

() Neither 1 nor 2

(b) Only 2 :
(d) Both 1 and 2

98. RrarrE vd weraama HAL: b R wee

&7

(4T Tt ¢d (b) oIt wifery wa
i Soll TN St

() et st vd  (d) AR e o
e T FHAl

99. wegd), 2023 ¥ WRA @ AW 9 vel@rey
W= @1 seured Prefafad H 8 W w

galT 1?7
g, ien | Y@, SR
(©) FIaeR, affierrg  (d) TP, FERTS

100. Prefaifa 3 & frd &0 g1 &% arell T &
w9 W AT ST 80
(@) FARITARY HTEA P (b) ST B
(O TEEN SHFES Pl {a;?ﬁm
101 gog # SR wew @ sRFARE & W 3§
frforfag wemi 4 @ B 98 8 /87
(1) 3158 T & forg ST 9<9 &1 31 41
Bl O
(2) SrPEFT B 80 Wew SR U=y ¥ Fraifg
E '
d foT v e @ wd SR g -
Fe —
(@) T 1 Tem 2 (b) et 1

(0)5Td 2 (d) 55 < 17 & 2
102. a1 fama & w9 S 51 arres @ T

#, Fefed wort 4 9§ B w1/ ) § /80
1. 3nffep fasra &1 e iy 1w wamg |

2. S TaeEdT gig &1 e faers w wE |

A o T B @ AR R 98 SR BT 9
AT —

aztd_
(a) Baer 1 (b) et 2
(c) =1 & 17T & 2 (A=t 1 3R 2
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i t a sustainable
3. f the following is no .
o :::;:p:'lent goal targeted to be achieved by

20307
(a) Zero Hunger
(c) Good health and
well being
104. Hangul-deer Is found in which part of India?
(a) In Rajasthan (B) In Kerala
(¢) InJammu and (d) In Assam
Kashmir

105. First National Centre for Marine Biodiversity
(NCMB) of India is situated at -
(@) Puducherry (b) Jamnagar

() Mumbai (d) Bhavhagar
106. With reference to the post’s in Secretariate of the
Parliament, which of the following statement/s
is/are correct? :
(1) Common posts may be created for the
Secretariate of each House of Parliament.
(2) The Parliament has right to regulate the
. service conditions of Secretariate staff of

(b) Gender Equality
(d) Space Research

either House of it.
Select the correct answer from the code given

below —

Code -

(@) Only 2 (b) ‘Neither 1 nor 2
(c) Only 1 (d) Both 1 and 2

107. With reference to India’s G-20 Logo, which of the
following statement/s is/are correct?
1. The logo has lotus with seven petals.
2. The seven petals of the logo represent seven
cohtinents. :

Select the correct answer using the code given
below -

Code -

(@) Neither 1 hor 2

(b) Both 1 and 2
(€) Only 2

trained in keeping

d
accounts Sl
':.C:' Main CUSt i ]
odianh of (g .
foyal palace ) Chief Officer of

Pargana
(B-1-23) 153753 '

™

103. FPr=iffRas # & @ @7 wad faeTd BT el &
8, Y 2030 e 1y e 7 e X AT &7
(Hl?ﬁﬂﬁg WW
©) 3BT e wd (d) afeifRer SO

SR

YR B :
bl ﬁmmﬁmmmfgwmﬂrm

(@) RTSTReIT 3
Q5 AR DR ¥ (d) arer 3

R T 92 9T Wew Wi w1 AR
(ETHiTad) Ree & _ 2

() ggert & (B e

(©) Hag # (d) e

T B AREeE TRt B v ¥, o i

DI/ B A L /¥

(1) ¥¥98 & g% ¥e7 @ AREem @ R
sifferd usl @1 g fhar s e &)~

(2) §9g @ I 5 N wem B ey
TP Dl |ar @t B Rl om0
IAWPR Brar 2|

A1 QT T @e & wE SR B T @R -
HE_ :

(a) Baer 2 a1 2
(€) waer 1 (d) St 1 qerr 2
107. YR & G-20 7t fore & weed 3 PR
DU H W DI A /R D R/
e e | a agRaEt aren wher 2
g e 8|
i O TR e BT YA BR 9 SR & g9
Eﬁﬁﬂt{—_

104.

(b) Ber #

105.

106.

%‘E_

@aaiw&2 Byl T2
(€) Baar 2 (d) Baat 1
108. ‘@RIqeR’ @i o1?

(@) SIfBERT ST (b) BRHEFT P ASH
 [RHE—fohame # qrell 3fferr
- BIT o7

C)ATerEet b1 9uE  (d) I BT g
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# ANR®DIC
: frafaRaa 3 | @ Rt eI =
Da. _
the following translated 300 ; : 0 AEpa gl Pl
9. Who. 3mO" afre @ aRE wafed 30

jumes of Sanskrit books collected by Firoz
vo

Tuglaq during the campaign of Nagarkot? GGl fpan?
() Azizuddin Khan (b) Mulla Abdul Bagi (a) s @ (b} ﬁf’?‘” arEel TR

(c) Mirza Muhammad (d) Talib Amuli & s ) ;

: 110. afaciforme sifaior fSHIS (@ .aSr) ferren

110. Biological Oxygen Dernaf:bﬁ (BOD) is a standar il e

criteria for - (a) T N aiferdio @ WX D1 Sird Eﬁﬁ*; o
%suring O; level in blood (b) T aTRReIfEs T ¥ gy G| Gla;ﬂﬁﬁa .
(b) Pollution assay in aquatic ecosystems (c) 9= Srare arel & H Siraie @
| (¢) Assaying Oz level in high altitude regions o g - S TR D
' (d) Computing O; level in forest ecosystems 50 @ far
: : Hef @ frafafaa d @
111. With reference to Union Finance Commission, 111w faw smamr P :
which of the following statement/s isfare BIFET /W HUT FEl %/%-
correct? (1) far amanT % Us 3emer 9T B HaEw B & |
(1) Finance Commission has a Chairman and six (2) I8 =1 wiae SRy 3manT & UG Bl
members. Y

[ (2) It submits its report to the NITI Aayog.
Select the correct answer using the code given

R G ol < Bl e R

ISy —
below — :
Code - T .
(a) Only 2 (b) Neither 1 nor 2 (8) Baet 2 (b) 5 a1 177 & 2
(¢) Both 1 and 2 (d) only 1 - @9 15 2 T (d) Paer 1
112. What was the name of the female Regiment  12- 7ot vy =/ Ay 2wy I B wra &
constituted as a part of the Azad Hind Fauj by R @ w7 & Thg nfen .{%‘.&E BT T W
Netaji Subhash Chandra Bose? i
(@) Rani Jhansi- (b) Veerangana gl
Regiment - Regiment (@) R SR T (b) A Wforfe
() Bhaflrat Mata (d) Rani Bhabani '&T;;ﬁ 1 Yorite (A) R T Yrite
Regiment Regiment
"13. By which year the target of population stability 113. sy GRCE e
has been fixed in India? FeiRe fsar qar Eﬁ 7 ﬁ:&ﬂ e
(3) Year 2080 (b) Year 2070 () 95 2080 T, (b) & 2070 g
(©) Year 2045 (d) Year 2075 “235;'2”45 T (d) a9 2075

[D-1-23] 15310}
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25 Assertion (A) and other is Reason (R) —

Assertion (A) — The Tamil Nadu coast remains dry

during South-West monsoon
season.

Reason (R) — The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the
Arabian Sea branch of the South-
West monsoon during monsoon

season.

Select the correct answer using the code given
below -

Code -

(@) (A) is true but (R) is false

(b) Both (A) and (R) are true and (R) is correct
explanation of (A)

(¢) Both (A) and (R) is true but (R) is not correct
explanation of (A)

(d) (A) is false but (R) is true

115. Which of the following statement is correct? 115.

(1) Ram Ganga river joins the Ganga at Kannauj.
(2) River Betwa joins the Yamuna near Prayagraj.
Select the correct answer using the code given
below —

Code -

(@) Only 2 (b) Both 1 and 2

(¢) Neither 1 nor 2 (d) Only 1

116. As per Social Progress Index, released rin 116

December, 2022, which of the following are on
top three positions in very high social progress in

Tier-1?
(@) Pondicherry, (b) Mizoram, Himachal
Lakshadweep and Pradesh and Ladakh
Goa
©) Kerala, Nagaland  (d) None of the above
W and Meghalaya

© “Agenda 21"

e of Rio Summit, 1992 s related 117

@) Preservation of

114. Given below are two statements, one is labelled 14 9= a7 s 2 Rl v @y affees (A) 3R '

¥R B FRO (R) HET AT & —

SfFIT (A) — cfrr—oRem AFEE HeE o
G AferTg e Y W& R |

4

DR (R) — afferrg de de &1 @Sl & I
%Hﬂﬁﬁ?ﬁﬂﬁ%aﬁ?aﬁm—ﬁﬂ'ﬁ/
HIFY 1 IRa WK R & |

Rera & |

e Ry U g @ 9@ s gfin —

fe =

(@) (A) ¥ & fpsg (R) 7Teta @
%aﬁ? (R) & @ & iR (R), (A) N =&

SRET HAT 2

(€). (A) 3iR (R) @Y wred &, AifA (R), (A) &Y &8

AT 8] Bl &

(d) (A) 7T = g (R) 9T 2
FefelRad w=T 3§ 3 B w1 98 27
(1) X T 7T B D U T S H A

2|

(2) dear T RIS @ Uy T A A e

gl
A Ru U ge | 98
a}:\?_
(a) P 2
YT a1 R 2

SR g —

(b) g™ 1 a2 2
(d) Saet 1

fewex, 2022 3§ SN wEE W YEHE &
AR fear—1 ¥, frefofaa & & @ afa s=

wrfore vy § 9 O R w 22

(a) e iR (b) e, fearEd
T ey AR TR
(c) B, ARTAYE iR @ﬁﬂéﬂﬁﬁﬁﬁi
HETey ©

Ral RRER awigH, 1992 FT “Teie-21" Wl
S _

(a) M IRa B ‘@’Tﬂ'ﬁﬁﬁiﬂﬁ'@[.‘
C R ¥

(¢) ygud — yram  (d) wEieRYT ReEr |
Rrgia @

0zone layer (b) Sustainable
© Polluter Pays development
Principle (d) Environ mental
'.D-1-13] 153107 education
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118. gy WK a4 & —

118. Trophic levels are formed by -
(a) Plants only (b) Carnivorous animals (a) daet ot (b) ael HETER]
onl el |
(c) Organisms linked in (d) Animals only {/El"ff?l'l'ﬂ CEEEl 3§ ot (d) Pad :ﬂﬁj&ﬁ i
food chain > waE 29 9
119, P 5 @, frw Rrg QAW P SER N

119. on which of the following, proved charges the
et 2023 1 fAfee werETEEl 4 giP &Rl

Finance Minister Nadhim Zahawi was sacked
from the Government in February, 2023 by the CERIRSECON | fererAT T S8 I & |

British P.M. Rishi Sunak? o’ :
‘ b) dFE THUSE
(a) Disclosure of Secrecy(b) Sex Scandal {a) sl iﬁ L
. o=dr H B
of the Cabinet
2 & BRI

(c) Tax Scandal (d) None of the above {W v (d) Sya ¥ 4 BE AL
120. chandraprabha Wildlife Sanctuary is situated in 120. =gyl 9=uaid ARINRT JTX g9l @ e S

which district of Uttar Pradesh? # fRor 87

() Chandauli (b) Baharaich (a) =Tl (by T

(¢) Sonbhadra (d) Lakhimpur Khiri (c) A= (d) RIMAYR R
121. pesert dwelling animals are called - 121. YT 3 AT PYA drel SIAR HEAK &

(b) Xericoles animals () gerarsl AR () A6feFe WIax

(a) Arboreal animals

(c) Ty TR (d) fag 99 aTel STaR
122. R @ AEFARER) & W ¥, Frefalad wuri

(¢) Terrestrial animals (d) Fossorial animals

122. With reference to the Attorney General of India,

which of the following statement/s is/are ¥4 Ar/q R 2 /%‘?

;:;rrect? by ; | (1) S i 2 ﬁ'gﬁﬂ
A person is appointed as Attorney General, .
whz is qualifie:io be appointed as aJudge of | ErIEE e S T RTe T RIEE
the Supreme Court. frgas &9 @ o affed 811 —

(2) The Attorney General can be removed (2) FETATIATE] Bl Se UT § Sur ufhan
through the same process as the Judges of the =TT S Wyﬁﬁ S R B
Supreme Court. B Y |

Select the correct answer from the code given s gLy T for

below — _

Code - Gl

(a) Both 1 and 2 (b) Only 2 }ﬂéﬁ’f 1 <=1 2 (b) et 2

() 7 dr 1 & 2 (d) Bad 1

(¢) Neither 1 nor 2 (d) Only 1

it A HAU RN

e

[D-1-23] 153101



123. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R):
Assertion (A) -12 Cheetahs arrived from South

Africa to India in February, 2023.
Reason (R) - Restoring Cheetah population is
considered to be a priority for India.
Select the correct answer using the code given
below -
Code -
() Both (A) and (R) are true but(R) is not correct
explanation of (A)
(b) Both (A) and (R) are trye and (R) is correct
explanation of (A) .
(¢) (A) is false but (R) is true
(@) (A)is true but (R) is false
124. Where was the “Sudarshan prahar Army
. Exercise” carried out jn Decerber, 20227
(@) Rajasthan (®) Gujarat
(¢) Uttar Pradesh (d) Madhya Pradesh

125. Which of the following factor is the most
Important factor for the lost of biodiversity?
(@) Control of predators (b) Destryction of
natural habitat

(d) Genetic assimilation

(©) Pest control

126. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) -
Assertion (A) - The President can recommend to

the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) - It is not mandatory for the President
to accept the proposal of the
concerned State Legislature.

Select the correct answer using the code given

below -
(@) Both (A) and (R) are true and (R) is correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A} I
(¢) (A) is false but (R) is true
(d) (A) is true but (R) is false

12343 &t Bom &, Rt § ve @1 AP (A)
3R GER BT DR (R) a1 74T 2| _
DT (A) - B, 2023 % 12 <t BT R

AP |/ YR /T TR | W

o PR (R) - =T bl STraTe) o) HERAT IR &)

< wefEar &

= R RA T e ¥ W s w7 T B —

ﬁlaE’—

© @ (W (R) T # g (), (&) 8
Tl B 8

(b) (A) IR (R) T weg & sk (R), (A) BT ¥

ARAT BT

o0 (OY(A) Terd # fabg (R) Wy @
() (A) e & b (R) et 2

128 fieR, 2022 % “<qEe yaR ey RN Paf
< faar T o
(8) TroTeRyT (b) TSR
(¢) IR w9 (d) 7 Y9
125+ﬁw%%ﬁﬁﬁ$?ﬁmwﬁaﬁﬁ’rﬁam€$
m%.mmﬁzﬁﬂﬁﬁr@w%ﬁ
¢ (a) TRaRRT gr oy Oy urpfas arg @y
- fererer
en (©) B frimm () Sraifdres
i S THHTHV T

Q0

o : YISOl g 3) ar @
Y “aﬂ?mmww‘mﬁ
c\ -

#aﬁqwqe@wﬁrwaﬁﬂﬁt}— |
@) (A) SR (R) Y wer ¥ ik (R), (A) &
TR PRy &
(b) (A) &R (R) S} wey ¥ 7 (R), (A) & vy
el Bar &
(#) (A) T 8 by (R) W @
(M) (A) 5 & fbeg (R) Torg 2

23] 153101
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TR

127. consider the following events and arrange these

in correct chronological order starting from the

parliest to the last activity —
(1) Appointment of the Drafting Committee (1) gy wfafe @ g -
(11) Indian Constitution was adopted and enacted @/ (1) AR e @1 Eed arfert [waiifi
() Date of commencement of Indian fopar g
CﬂﬂStltutiﬂn {“]]W HF _E_r\,)_ ?‘ﬁ Eﬁi ﬁ'ﬂ.@
(IV) Constitution Assembly first met /) (V) e T oy ‘ 3 w//
select the correct answer from the code given Sy fg o Te o 51 T T —
below — 0 o
Code - :i & o
- v, 1, i, 1
(@ i, I, 1, IV (b) IV, 1, 111, 1 - (@) 1, 1, 1, IV 2 v
d ol ek 1V, 1, 00, (d) 1, 1, 1V,
(©) IV, L, 1L, 1l () 1, 11, 1V, 1l o™ | -
128, 75 fagwR, 2022 1, FrfafEd = H o

On 25th December, 2022, which of the following
countries extended mandatory Military Services
for one year to those males who were born after

128.

01 January, 2005?
(a) Myanmar - (b) Taiwan c"fy]
(c) SriLanka (d) Afghanistan €

Given below are two statements, one is labglled
as Assertion (A) and other as Reason (R) =
Assertion (A) — The President is a part of the

Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot becorp,g 3
law without the assent of E:\fjhe
President.

Select the correct answer using the code é‘b‘en

below -

(@) Both (A) and (R) are true but (R) is not correct

explanation of (A)
(b) (A) is true but (R) is false
'{G (A) is false but (R) is true
(d) Both (A) and (R) are true and (R) is ca‘&éct
explanation of (A) P

With reference to the Captain Hawking’s, which

of the following statements is correct?

(1) He came to India in 1611 as an envoy of

James — |,

(2) He was very well versed in Turkish language.

() Both 1 and 2 (b) Only 2

(©) Only 1 (d) Neither 1 nor 2

129.

G‘O

130.

ERT 1 WA, zn§$mﬂ§qW$W
v ¥ @ A dar afrard B A AL

(a) =HR (JZGIEEI!
(c) #freianT (d) ST -

129. 31 <1 woF &, R § U@ @1 AMHAUA (A)
3R TER BT DRI (R) FET TAT & —
W{A)—ﬁgﬁﬂ‘*ﬂézwm%l
W(R}—Wiﬁaﬁﬂ‘imﬂ’immﬁﬁﬁﬁuﬁ

g 1 At @ oA S Tl
g9 HPHaT B |
7 T T S FT STWRT FRe qEl TR P

AT DTS —

@A) 3% (R) ST W ¥, 5T (R), (A) P W
ARAT & BT &

(b) (A) W & b (R) T &

(©) (A) e ® fb=g (R) W0 @ _
d) (A) R (R) T T & 3R (R), (A) BT T
SIRAT BT &
130, ey Bfftpe & W #, FrRRad @l 7 9
P W1 HE 27

anﬁwfl%’@zﬁmﬁw
ST |
aggaﬁwmagﬁwmml
11T 2 (b) et 2

(c) daa 1

Z qr 141 & 2 |
T
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181 with

following statement/s is/are correct?

membership of the Le
that state.

(2) The Legislative Council of
least forty members in it.

L Select the correct answer from the code given
e below —

Code -

I (@) Both 1 and 2 (b) Neither 1 nor 2

: (€) Only 2

(d) only 1

T?-”-'— Who composed the Golden Globe Award winning

song “Naatu Naaty”?
(@) S.S. Rajamoulj (%) Devi Sri Prasad
(€) A.R. Rehman (@) M.M. Keeravani
~ 133, Which of the following sche

Uttar Pradesh?

(1) Anuthee Uphar Scheme

(2) Matra Shakti Udyamita Scheme
(3) Kaushalya Matritva Scheme
(4) Stree Nidhi Scheme

Select the correct answer using

me/s is/are related to

the code given

below -
Code -
(@) 2,3 and 4 (b) Both 2 and 3
€) Only 1 (d) Only 2
134.

With reference to the joint sitting of Parliament,

Which statement/s is/are correct?

(1) Article 109 Provides for the joint sitting of

Presides the joint sitting of the

two Houses of Pa rliament.

Select the corre

ct a : ;
below — NSWer using the code given
Code -
@) on -
(c) i . ) Both 1
Neither 1 and 2

nor 2

9 onjy 5

Page 26 of 35

reference to the COmposition of the
Legislative Council in a state of India, which of the

(1) In the Legislative Council there may not be
more than one-third members of the total

gislative Assembly of

d state must have at

ﬁ,ﬁtﬁﬁ'@r?ﬁﬁw,/ﬁmmﬁﬁ%/ﬁ?
mwfﬁum%—q—ﬁwmaﬁﬁmmaﬁ
%Wﬁ@riﬁwmﬁmm
TE 8 gy ¥ .
{H%maﬁfamw&qaﬁmqﬁwm
Wmtﬁaﬁm%m
%Wwwﬁﬁwwwm-
H"i@__

%ﬁlﬁmz -G Far1ar & 2
(©) Paer 2 (d) Baer 1

(©) TR, T=ay

133.%%3,&@%@
W 8 /22
(1) St SUBR Hromy
VATt safiar dom
(3 G IISTT
(4) =1 [ Fro
;ﬁﬁﬁqwqeﬁﬂﬁwqﬁq—
3‘3?'._
@2 33ka b S 2 3k 3
(©) Baer 1 (A e 2
134-%’?43&%%%@%@&&%%@3%
ﬁﬁiﬁw/ﬁmﬂé‘lﬁ/ﬁ?
(1Ja3aﬁzzgﬁwaﬁﬁmaﬁaﬁma‘faﬁ
WY 95 BT AOHH P 2| -
(2)@@@%%@%@%
BNl & |
':ﬁaﬁqwﬁeﬁﬁﬂ'@rwiﬁmh
&é?‘._.
(a) 1
© Far197 4 2

(9} TH.UH BREGN
ST /T TR T2 &

(b) TFY 1 Terr 5
(d) Baer 2

NiRIERIARR (iR AR i e e




135 With reference to the Fecommendations of the
Ashok Mehta Committee (1977) on Panchayati
Raj, which of the following statement/s is/are
correct?

(1) The three tier system of Panchayati Raj should
be replaced by the two tier system,

(2) A block should be the first point for
decentralization under popuylar supervision
below the state leval,

Select the correct answer using the code given

below —

Code -

(@) Only 1 (b) Both 1 and 2
(€) Only 2 (d) Neither 1 nor 2

1"5. Eastern boundary of the Harappa culture s
indicated by which of the following?
(@) Manda (D) Alamgirpur
(¢) Rakhigarhi (d) Harappa

137. What s the-theme of the International Day for
the Eradication of Poverty for 2022-23?
(a) “Dignity for all in practice.”
(b) “Accelerating. global actions for a world

without po verty.”

(c) “Coming together to end poverty and

discrimination.”
(d) “Acting together to empower children, their
families and Communities to end poverty.”

138. Which tyee of vaccine protect against
Diphtheria?
(@) Toxoid (b) Live-attenuated
(©) mRNA (d) Viral Vector

139. With reference to the E.V. Ramaswami Nayakar,
Which of the following statement/s is/are
correct? :

(1) He participated in the Non — Cooperation

Movement.

(2) He left the congress in 1925,

Select the correct answer using the code given
below -

Code -
(@) Neither 1 nor 2
(©) Both 1 and 2

(b) Only 2
(d) Only 1

1-23] 153101

135. gy 1ot av arefyes e ﬁﬁ%ﬁaﬁui:;

? g Rl o wiesd ¥, Frefetaa @

H 3 DI ar wd & /2

(1) VeIl T @ e e e @ R TR
feedr argwern e =nfav |

(2) T ¥R B A g )
R&wiiaxor &1 yerm fig w=r wr=r =ifey |

T 19T T e § W SR 1 o ST -

EE'_
(@) Baet 1 (b) Zr 1 crerr 2
(c) Baet 2 ©@ 5 ar 157 & 2

136.ﬁr{ﬁ?{;@aﬁﬁmﬁm@ﬁl$‘fﬁm
b1 AEfRor wwar 22
{Wﬂﬂ?ﬁ-\rgq

(a) HUgr
(¢) YT (d) sy

197-2022-23 % forg TE T B foro SERIEY
R o1 fw a7 7
@) “HaeR F Wit B farg Ry
©) T B fa v AR it o
AT

"l STt et B g T, 5 e
mvgmaﬁmaﬁwﬂrzﬁﬁwwm
BTH BT

139, é.ﬁ.mmﬁmm%mﬁﬁﬁﬁrﬁv‘rﬁmiﬁw

T B/ g e
{llﬁﬁﬁwmvaﬁmﬁ%w%ml

(2) S=i 1925 ¥ B Big &

T RY T Be 3 gy RS T @R

@_
@A 197 & 5 (b) ®aer 2
(©) g4I 1 g0 2 (d) Bger 1

BT Ty



4. Which one of the following is the main o

194. What caused wind to d

e

1-23] 153101

140. patch list-1 with list-) and

; Select the correct
answer using the code Biven p :

Elow —
i List — 1 - Liston
f
i (Mountain anu
1 (A) Kilimanjaro i htries)
h Orocco
i (B) Toubkal (2) Al il
g‘r (C) Stanley (3) Beria
4 (D) Hoggar Tanzania
Code - (4) Uganda

(8) A-(4), B-(2), C-(3
(b) A-(3), B-(4), c.
(¢) A-(3), B-(1), c-

(@) A-(g), B-(3), c-

141. Nan-conventionaf

). D~(1)
(1), D-(2)
(4), b-(2)
(2), b-(2)

e
€nergy Sources, that

(@) Prog uced from
electricity

Nergy soy rces

are  those
are - -

(b) Renewaple

(©) Produced from heat (d) Nc‘n-ren‘ewébié
42. How many railways stations Haye been identified

Scheme” in Uttar Pradesh as on February, 20237
(@) 149 (b) 57
(€) 123 (d) 82

143. ‘0zone layer absorbing 'ultra - violet radiation
€Xists in which of the atmospheric layer?
(@) Troposphere
(c) Thermosphere

(b) Mesosphere
(d) Stratosphere

eflect towards left in
Southern Hemisphere? | '

(@) Temperature
(¢) Magnetic Field

(b) Pressure
(d) Coriolis force

of Janani Suraksha Yojana?

(@) Reduction in neo-natal mortality rate only
(b) Reduction in
mortality rate

maternal and neo-natal

(€) Reduction in infant mortality rate only
(9) Reduction in maternal mortality rate only

bjective 145 fAwifeifad # & @ w Wiy

e
140. e FY g1 Hﬂ.ﬁ‘:ﬁ-{ a'?r;;;;, ==

R g e @ W oo L "

NE—) @-ﬂ)
(A) mmﬁ —_ (1) %
[B} 'iérq:;a- y {2] Z{ﬁ'ﬁm -
(C) ey 4 5
(D) By (4) 3™
e :
@) A-(4), 8.() c-(3), D-(1)
Ol A-(3), 514, C-(1), D-(2)

(©) A-(3), B-(1), c-(4), D-(2)
D A-(a), B.3), C-(2), D-(1)

141, M:wwwawgrﬁﬁ;g
(a}ﬁga—\ﬁﬁag W 5
(c) SHwfg & (d) R ®

142. Ty, 2023 T weR yay H CeHd IR Yo
AN % e ey @ g R

TR B vmE o 27
@) 149 (b) 57
©) 123 (d) 87
3. TR R a1y sevRie we A S
R 5% Trpsa w3 Rer &2
(@) & Hge (b) 7 HeSA -
(€) T Heg (Y T S

MR et § g o7 ari sk PR B9
T PRIT 27

(@) TOAE
(c) gaara &

(b) TeTq

(PRI T

IRET AT
B

—

T Se¥d &7
(8) HacT I Hog aX H By
Wﬁﬂﬁﬁﬁﬂ@ﬁw
(0) e R g =X H |

(d) el 1] TG X H T
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' 46, <y, e AT E"\’ ﬁ;ﬁ

. () .?
6. With reference 1o oM Gati Shakti Schferne, & /R B a2/ . 1 2022
L following statement/s is/are il S W_ﬂ@ﬂ i =i pald 2

which of the
t? 2 o |
:ﬁrﬁf& pM Gati Shakti scheme-National Plan was o [ urgy e (Qﬂaﬂéﬂﬁ) A
jaunched in 2022. (2) T T*T‘w b : e,
(2) The PM Gati Shakti Scheme pertains to seven AT e (Gg, ¥l 5 : s AR
engines (Roads, Railways, Airports, PC'T’_E! TR e, o Fﬂ'lﬁ _ e
Mass Transport, Waterways, Lfig‘:f';:;: erarai) @ e e T8
lnfrastructure], NIP will be aligned wit G e T |
Gati Shakti Framework. gifa < ?fl s
select the correct answer from the code given faferfiad e 5|
below — e —
coge- @ imez D2
(a) Neither 1 nor 2 (b) Only 2 @ L3R 2 (d) @ 1
(c) Both 1 and 2 (d) Only 1 _ _ et ot 3 e
147. With reference to the Puranas, which one of the 147: TT"ﬁ & wad A
following statements is correct? a8 N
(1) Information about the Mauryan dynasty is (1) fasop gRToT 3 AR 99 @l ST A B |
found in the Vishnu Puran. (@JEE TR T g91 9 I ZaeRI] U UpIRI
(2) Vayu Puran throws light on the Gupta’s 3
overnance system.
(a]g ! (a) S1H7 1 a1 2 (b) @det 1
Both 1 and 2 (b) Only 1 o e 2
(©) Only 2 (d) Neither 1 nor 2 Q=T 2
148. Which of the following pairs (School of Thought —  148: refafaa § | $F | I (&9 — WER®)
Proponent) is correctly matched? ad W 37
(a) Uttara Mimansa— (b) Mimansa — Kanada | _ _
Kapila W Hreiar — wive ) SHE — 6vd (F9)
(c) Nyaya—Gautama (d) Vaisheshika — (¢) = — T () SefRFT — Tas
Patanjali
149. Mount Newman’ is famous for which of the 149 ‘Wreve =g fwfeiad # ¥ b @fs @ e
following minerals? yfig &7
(@) Copper (b) Manganese (@) qfeT (b) FITHIS
(¢) Iron ore (d) Bauxite (c) TIE ¥ (d)_ STeIEe e
150. Who among the following has authored the hook 150 feifaifRad R o e e SR '
“Spare”? (@) f " (b} fi =90
(a) King Charles (b) Prin :
g ce Harry ©) fﬁ'ﬂ i:t ﬁ (d) fﬁ;‘q ﬁ,—ﬁfm

(¢) Prince Williams (d) Prince Phillip
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